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Problem 1. Iind the following limits, if they exist, based on the graph of f{x) bolow:
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Problem 2. Find the following limits numerically. If a limit docs not exist, state this and nse
the limit notation Lo describe any infinite behavior.
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Problem 4. Find the following limits, if they exist, based on the graph of f(r) and g(x) below:
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Problem 5. Find the following limits algcbraically. Tf a limit docs not exist, state this and nse
the limit notation to describe any infinite behavior.
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Problem 6. Find hml T algebraically, Tf the limit does not exist, state this and nse
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the limit notation to deseribe any nfinite hehavior

3 ¢ he ; vag -
e GEoeey L i G2 ()
X 2k (ngr%ué) CV@Q -

L_,—-—-._‘\(-'—""-

CEUPRIAT, @&""CLQ[QQ’Q

’ (e e ahele n e G
A L s,

veekiod w@m?m T

910 X4 = ©
s ]
S ) - WU
e 5 g) O
ehraically. If thie linit does not exist, state this and wse the it
ite Dehavior
S (x-5
5x S M \
e E = [ex)(B-%1
e o8 T = o
& ‘; — X 5




L

,grn\f A vodicdd — e Cpﬂd;“\a

e v
& = T ‘e
f {/‘r [ — |

. & 3—2 : . o 2 ;
Problem 8. I'ind 1111} algebraically, If the limit docs not exist, state this and usce
] n
the limit notation to describe any infinite behavior,
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Problem 9. Find lim
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algebraically. Il the limit does not exist, state this and use the



Problem 10. Consider the piccewise function f{x) given below, and answer the questions.
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